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Löse die Klammern auf und berechne das Endergebnis.
Nebenrechnungen:
1. (5,44 - 0,6)·(8,3 - 0,44) =  
_______ · _______ = ____________


2. (86,2 - 44,12)·(91,9 - 3,4) =  
_______ · _______ = ____________


3. (73,69 + 0,8)·(52,8 - 0,7) =  
_______ · _______ = ____________


4. (75,71 + 3,02)·(7,06 - 2,9) =  
_______ · _______ = ____________


5. (8,54 + 0,25)·(0,35 + 14,4) =  
_______ · _______ = ____________


6. (88,5 + 0,94)·(8,6 + 0,2) =  
_______ · _______ = ____________


7. 8,6·(89,6 - 0,49 + 90,7) =  
_______ · _______ = ____________


8. 0,2·(8,12 - 2,5 + 59,5) =  
_______ · _______ = ____________


9. 0,63·(0,9 + 0,3 + 3,63) =  
_______ · _______ = ____________


10. 41,62·(45,82 + 4,3 + 0,17) =  
[bookmark: _GoBack]_______ · _______ = ____________
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